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Activity 1

No. Solutions Marks
1.1 | 220 (2)
X =—
10
X =22
1.2 | ¢ = 3,95 2)
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Activity 2
No. Solutions Marks
21 | _ 550 (2)
X =—
10
% = 55 kilocalories
2.2 | 0 = 69,03 2)
2.3 | Snack foods have a greater variation. The standard deviation for snack @)
foods is 69,03 kilocalories whilst the standard deviation for breakfast
cereals is 28 kilocalories. i.e. energy levels of breakfast cereals is spread
closer to the mean than in those of the snack food.
[6]




Activity 3

No Solutions Mark
31 o 1522 S(2)
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x =101,7
3.2 | 619,07 )
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3.4 ?3)
¢ ®
50 60 10 a0 90 100 110 120 130 140 150
35 | (x—10o; ¥ — 10) = (82,4;120,54) 3
=~ 2 days
[12]




Activity 4

No Solutions Mark
4..1 Median = 42 S(l)
4.2 | Lower quartile = 32 (3)
Upper quartile = 46
Interquartile range = 46 — 32
Interquartile range = 14
4.3 ?3)
— &
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4.4 | There is a greater spread of scores to the right of the median (42) (2)
[9]
Activity 5
No. Solutions Marks
51| _ 102100 )
YT
x =11 344,44
52 | 0 = 4460,97 )
5.3 | The value of the standard deviation above the mean: @)

= R11 344,44 + R4 460,97
= R15805,41

There is only one person who obtained commission one standard

deviation above the mean. Only one person received a rating of good.

[6]




Activity 6

No. Solutions Marks
6.1 7= @ (2)
-8
x =16
6.2 |0 =755 (2
6.3 |0=971 (2)
o increases
6.4 | The total number of runs required is 20 x 16 = 320 3
The total number of runs to be scored in last five games:
=320—-59—-128
=133
_ 133
S
X = 26,6
[€]
Activity 7
No. Solutions Marks
71 | _ 5225 (2
X =
12
X =435
7.2 | Minimum = 9,3 (5)
, 15 + 23,6
Lower quartile = ————— 19,3
. 28 + 32,5
Median = ——
, 65,7 + 71,9
Upper quartile = ——— — 68,8

Maximum = 98,2




7.3 ©)
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7.4 | The data is skewed to the right (positively skewed). 2
This suggests that there was a large difference between the median
and the maximum rainfall (some months had exceptionally high
rainfall in that year).
7.5 o = 28,19 3)
[15]
Activity 8
No. Solutions Mar
ks
8.1 | Minimum =9 4)
Lower quartile = 25,5
Median = 55
Upper quartile = 75
Maximum = 92
8.2 @)
: ' : : : : : : :
10 20 30 40 50 60 70 80 o0
83 |ClassB 3
Class B performed better because half of the learners got above 60%
whilst half of Class A got more than 55%.
Class B performed better because half of the learners got above 60%
whilst half of Class A got less than 55%.
Median of Class B > Median of Class A
[9]




Activity 9

No Solutions Mark
) S
1|55+55+50+47+42+3

9.1 X 48375 @)
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249 + 3x
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Activity 10
No. Solutions Marks
101] __ 202 )
30
X =6,73
10. 747
0.2 Median = —— 2)
2
Median =7
10.3 | o = 2,26 2
10.4 | (6,73 — 2,26 ; 6,73 + 2,26) 3)
= (4,47 ; 8,99)
“44+44+84+3 =19 times
[9]




